Table for Computing Line B Table for Computing Line A & B

Class representative Frequ_ency Ui fi * ui fi * ui(sq) Class representative Frequ_ency Ui fi * ui fi * ui(sq)

value fi value fi
-6 (149.4) 2 -6 -12 72 -6 (149.4) 2 -6 -12 72
-5 (149.5) 2 -5 -10 50 -5 (149.5) 2 -5 -10 50
-4 (149.6) 4 -4 -16 64 -4 (149.6) 4 -4 -16 64
-3 (149.7) 6 -3 -18 54 -3 (149.7) 6 -3 -18 54
-2 (148.8) 8 -2 -16 32 -2 (148.8) 9 -2 -18 36
-1 (149.9) 11 -1 -11 11 -1 (149.9) 15 -1 -15 15
0 (150.0) 12 0 0 0 0 (150.0) 18 0 0 0
+1 (150.1) 8 1 8 8 +1 (150.1) 17 1 17 17
+2 (150.2) 5 2 10 20 +2 (150.2) 16 2 32 64
+3 (150.3) 2 3 6 18 +3 (150.3) 15 3 45 135
TOTALS 60 -59 329 +4 (150.4) 9 4 36 144

+5 (150.5) 5 5 25 125

+6 (150.6) 1 6 6 36

+7 (150.7) 1 7 7 49

TOTALS 60 79 861




